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42. EIKE - BZKESZRDIR]

FRGEE | EREE | TMBEE | TROEE | FRI0EE

BAEHBKAD (N 29,179 28, 791 29, 363 28, 964 28, 359

7J:K F M B K = (Fm) 4, 307 4 183 4,197 4, 337 4, 260

| 1BETEHBKkE () 11, 800 11, 460 11, 499 11, 882 12,107

1 AN/1BFHEEK=E (2) 404 398 392 410 427

w| BE®RKAD (A 20,216 19, 957 18, 769 18, 525 18, 377

Z F M B K = (Fm) 2,152 2,770 2,683 2,636 2,662

zlg 1TEEHYHKE (M) 7, 540 7,589 7,351 7,222 7,293

= 1 A/1BFHEEKk=E (2) 373 380 392 390 397

= & £ (%) 96.2 96. 2 96.2 96. 2 96.2
XEHKEICE, BHKERBRESDT,

(&8 ETFkEE)
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43. FTKEBEEDRNR

(1) EEHRETKE

FHROEE | FREE | FHOEE | THROFE | TFHROEE
F x 2 aoE B (ha) 2,341.9 2,319.2 2,319.2 2,319.2 2,319.2
moEH R o m B (ha) 1,925.3 1,930.5 1,971.5 2,017.7 2,040.0
e fis = (%) 82.00 81.14 83.12 84. 81 85.74
moE R B A A0 (N) 41, 3217 40, 938 41, 420 41,712 41, 850
K % £ F A A (N) 32,637 32,739 33,612 34, 425 34,704
7K P 1t 22 (%) 18.97 19.97 81.15 82.53 82.90
- = E & (km) 425.7 427.0 437.0 450.0 456. 2
an 3 K £ (m) 4,483, 905 4,555,170 4,675,771 4,821,093 4,899, 835

(2) EMAHXTKE FHXRFEES2—)

FHEE | FROEE | FROEE | FHROFE | FHROEE
i B # 1 1 1 1 1
= X R 7 E B (ha) 57.6 61.6 61.6 61.6 61.6
moB R & o m B (ha) 56.9 56.9 56.9 56.9 56.9
B i * (%) 98.78 92.317 92.37 92.317 92.37
moE R B R A O (N) 883 819 180 1 739
K % & F A A (N) 877 813 715 763 134
7K P it = (%) 99. 32 99.27 99. 36 98. 96 99. 30
-] £ 13 & (km) 12.0 12.0 12.0 12.0 12.0
A H 7K g (m) 129, 320 134, 633 135, 479 131, 526 128, 256
A . R (m) 432.0 533.0 580. 0 637.0 444.9
(3) BRFHEBEKIEE

FREE | FR2GE | FHROEE | THOEE | THROEE
i B # 29 29 28 26 25
T X R A7 oE B (ha) 842.0 842.0 795.0 154.0 124.0
B R B o m B (ha) 842.0 842.0 795.0 754.0 124.0
B i B (%) 100. 00 100. 00 100. 00 100. 00 100. 00
o oE R B R A A (N) 1,449 1,292 6,279 5, 369 4,827
K % & F A A (N) 71,149 1,012 6, 047 5,145 4,644
K P it = (%) 95.97 96. 16 96. 31 95. 83 96. 21
= £ it & (km) 117.0 117.0 108.0 101.0 100. 0
A H 7K g (m) 1,122, 855 926, 137 858, 209 811, 466 681,512
A . L (m) 1,612 1,528 1,279 1,324 1,428
(4) HESKFHFKEF

FREE | FRIGE | FROEE | THROEE | FHROEE

i B # 1 1 1 1 1
T X R A7 oE B (ha) 4.0 4.0 4.0 4.0 4.0
B R B o m B (ha) 4.0 4.0 4.0 4.0 4.0
B i B (%) 100. 00 100. 00 100. 00 100. 00 100. 00
o oE R B R A A (N) 45 50 48 47 46
K % & F A A (N) 42 44 42 40 39
7K P 1t 2 (%) 93. 33 88.00 87.50 85. 11 84.78
= = i & (km) 2.0 2.0 2.0 2.0 2.0
A i1 7K = (m) 4,043 4,042 3,937 3,793 3,990
ViR R VR ! (m) 14 9 10 0 10
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